FEBRRRETETE MRER

-

wioB R sk AR

W A B | FHes#2148  (B) | kickoff | 1100 | K | <Y |rivvrnE|  FE
LoU—sni | mit -8 ( BERE ) [oeoenoslo AR B |0 AN BZ |0 B BA
il Ul F1TE2ESEFRERSIE—TybR—IL K- FEITOVIF RS
B Wl R
= % HFEELSLEIIE—Yyh-15
RO 30 HyonN—7
[ 3 Juwe[ 19 ]
BIAR 3 45 e
[ 0 Jee[ 26 ]
FR&R i | o | [ wn | =2 (BRI - Wl - ZOMBERIBITA)
| R EE 1 LN RS 2 .
L < FIE > Fusty BRAREH
2| JUAR HE—EBR 1 2| REER METF 2
3 i FE 2 3 e b 2 s N\ PN ¢ - R _
T A BAH ) TAE BAR > BT 15 2| BERAR |58+ LF1T—ILHI. 3 0
- FW = Ao
5 =H E 1 5| IMVER SR U g 00 4| o [BESAESMESAROSALTIMABE-LERLAAT .S 5 _
6| B B 2 Y Bm BE 2| |27 BREBHLT, EBMICRSA, 0BT — LR,
7 B 1 1| AR BEY 2l la 05 4| wpm [EESLEIOMESAROSATIABELERLALT. | 5 _ o,
3y BEA EE 2 s| =)l B il =7 SEMERRAAT. HRMIZAS1, T— LRI,
9| B RE g [ EER CRA& 20 g 20 4| wm  [BETAESEEMGEOSsRR- 2ELRMALT HR 5 g
0| BHHE BA 2 0| #AA B 2 7 IS4, 10BT— LR,
n| By B 1 ul KE % 1
X K < mE > FusAy -
2] KH thig 2| p L2 HIE EH 2
B B K5 2 3| AR EE 20 | 7 4| wm  [BETAEOMEEMEEORERIR—LEF—SLT, g _ e
1| & B—ER 2 11| gEF BE 2 7 IBMEZAAT, BRRISFS A, 10BT— LRI,
15 T = 1| FB |15 Bh Al ol 114y um [EES AR BREEORF LT Ry hBIBEYRLT 5 _ gq
6| AR AKX 1 6] B RE 2 7 SRR ITT A, 10FT— LA,
7] EAR s 1 17 *HFokok ol 64 um BRSO ARIOMESAROSALTIMNSELERLAAT, | 5 _ 4o
18] AR EZB) 2 5| FIER B 1 7 SEMEZAAT. HHMICFSA ., T—LRHM.
19| Itk EEER 1 vl HAE FHE Ul 27 45| o[BS AESMESRGEOSY SRR LELT ESMIZ | 5 _ 4
0| K [EAXER 1 g [ B8 ¥ 1 b1 0BT L.
a] AR BE 1 2| TN @ 1 TR _
2| FBRE ZR 1 2| BH# —E 1 -
23 sokokokok *x 23| PEER EAX 1 N -
24 Fokokokok Hk 24 oE & 2
25 Rokokokok ** % | i HE 1 N _
B I No. 44T No. 4mi1 | ABEZ | #&l iNo. 40 No. 4 Wi N _
- 1 % 61 MEmE — 16 KW AK 7
- 2 % 21111 kE & — 24 8@ & ™
4 _
- 3 #® 211 2 sme mE — 20 e BB
e : -
- : - % _
8 — 5 B
R No. £4RI No. 4l | AGZCHE | #%8 [No. £4Ri No. 4l
= ; - % _
e : -
— 5 — N
~ v = ~ ~r. 7] -
AR No. £4R0 No. ZAiiil | —WEsdRE | #& I No. 44T No. 4l
- ; - % _
= ; - % _
N 5 — 5 _
A % [Ea il %
0 0 T 3 4 H—R 5y
0 0 G 2 3 FEIE AR (No. AW N FEME AR INo. AW N
1 0 PG 0 0 1
0 0 DG 0 0 2
3 0 7 19 26 3
3 a5 45
s 7 B ==
R = =T R o R4 —% i HE BX AT BH k2
2 0 oL 3 0 L7y— st JE— 8 L -8 =
7 0 a5 6 0




